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There be句型及方位介词
（ D ）1、There       a lot of people in the supermarket on weekends. 

A.has   B.is   C.have   D.are

【解析】

本题考查There be句型的结构。

句意：那家超市周末有许多人。根据There be的结构可先排除A和C;主语是a lot of people，对应的be动词是are.

（ C ）2.There       a man and three children in the photo. 

A.have   B.are   C.is   D.has

【解析】

C主语是a man and three children．根据There be句型的就近原则可知,be动词应和a man在数上保持一致，所以应用is．。

（ C ）3.-What's in the bag?

-There       a book and a pencil box in it, and there many pens in the pencil box.

A.is; is   B.are; are   C.is; are   D.are;is

【解析】

和a book搭配的be动词是is；和many pens搭配的be动词是are。
（ B ）4.There       a bus stop across from the street. You can take a bus to the cinema.

A.be   B.is   C.am   D.are

【解析】

本题考查There be句型。和a bus stop搭配的be动词是is．

（ C ）5.-       there any cars in the parking lot?

-No, but there a bus and some bikes.

A.Is; is   B.Are; are   C.Are;is   D.Is; are

【解析】

本题考查there be句型的结构。句意：——停车场有一些汽车吗？——不，但是有一辆公共汽车和一些自行车。和any cars搭配的be动词是are;和a bus搭配的be动词是is．

（ B ）6.-       a post office around Here?

-Yes.It is on Bridge Street.

A.Is it   B.Is there  C.Are they   D.Are there

【解析】

本题考查There be句型的一般疑问句，根据主语a post office可知，对应的结构是Is there.

（ C ）7．If you pass the bookstore,you'll see the bank       your right.

A.in   B.at   C.on   D.to

【解析】

on the/one's right意为“在右边”C.

（ D ）8.-Is there       supermarket near here?

-Yes, it's on right of our school.

A.a;／   B.／;the   C.the;a  D.a; the

【解析】

句意：——这儿附近有一家超市吗？——有，在我们学校的右边。表示“一家超市”时要用不定冠词a来修饰supermarket;on the right of．意为“在……的右边”。

（ C ）9.My grandfather used to take a long walk       the river bank after supper.

A.over   B.between   C.along   D.through

【解析】

句意：我爷爷过去常常在晚饭后沿着河岸散步很长时间。表示“沿着”要用along。

（ B ）10.There is a river       the school and his home. He goes to school on a boat.

A.at   B.between   C.in   D.on

【解析】

句意：在学校和他家之间有一条河，他乘船去上学，表示“在……和……（两者）之间”要用between...and...的搭配。

（ A ）11.-Mike sits on my left. John sits on my right.

-That means you sit       them.

A.between   B.on   C.in front of   D.under

【解析】

A题干中提到“迈克坐在我的左边，约翰坐在我的右边”，由此可推断，我坐在他们两人之间，故所缺的方位介词是between。

（ B ）12.-Dad，can we walk       the road now?

-No, we        .We have to wait until the light turns green.

A.across; needn't   B.across; mustn't

C.through; can't   D.through; mustn't
【解析】

句意：一一爸爸，我们现在能过马路吗？——不，我们一定不要。我们必须等到交通灯变绿。表示“过马路”时，要用walk across和the road搭配，先排除C和D;再结合本题语境可知，不能在红灯的时候过马路，故第二空要用mustn't。
